Selected Response '_ . . .
1. AI used {I{e exhresslonﬂ * 25 x 2 45
to find.how many CDs he 'has, How many
CDsdoeshahave?., o T
@y TG
®13 .. . ®10.

~ 2. Jamie baked 24 biscuits. Her sister Mia
" ate 3 biscuits, and her brother David ate
- 2 cupcakes. Which expresslon can Jamie use
to find how many biscuits are left?

o @24+f3+2} C© 24~ 3;+2 )
'024 B+2 @24 B-2

3. Whatls the unknawn numberln sequence
« -2inthe chart? .
...2 3. | 3 . ?
1.6 1 9 15 § 21
anica 2 30 |45 | 75 | ¥
. @®e3 . . - ©10s5

@ @150

Patel hopes to be one of the first fans
~to get into the stadium for the baseball
game because the first 30,000 fans will
" receive a baseball cap, Which shows 30,000
. as a whote number multlplied by a power
often?

@ 3x10 -
C® 3x10°

©3><1_0’
@ 3x10°

s, The Davls famlly pays 5200,000 for anew

house Thel make a down payment that
Is = 75 of the price of the house How rnuch Is
the down paymeht? P

el ”:rle < r@ szom
. 5200 ‘@ szn noa

6. Jackfe Found a rock that has a mass of
78.852 grams. What is the mass of the rock
rounded to the nearest tenth? 5

@ 78.85 grams @ 799rams
@ 789 grarns* @ 80 gram§

7. Acm:npany manufactures 295 toy cars each
day. How many,toy cars doés the company
manufacture in 34 days? !

@ anss L © 10,065
® 7,610 © ® 10,030

8. There are 6 buses transporting students
to a baseball game, with 32 students on
" each bus, Each row at the baseball stadium
seats 8 students, If the students fill up all of
~ the rows, how many rows of seats will the

students need altogether?
®2 = ©H
® 23 ® 1536 R

9, The portions of a house that need to- be
heated can be modeled by one rectangular
prism with a length of 45 feet, a width of
20 feet, and a height of 18 feet,and a~
second rectangular prism with a base area
of 350 square feet and a height of 9 feet.
What is the total volume?

@ 12500 cublc feet
16,200 cublc feet
© 16,550 cubic feet
® 19,350 cubic feet
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10. Marci mailed ¢ letters at the post office,

Each letter weighed 3.5 ounces, What was

the total weight of the letters?

® 3350unces  © 31.5 ounces
325 0ounces (D) 27.5 ounces

11. Denise, Keith, and Tim live in the same

_neighborhood. Denise lives 0,3 mile from
Keith. The distance that Tim and Keith live
from each other is 0.2 times as great as the
distance between Denise and Keith, How
far from each other do Tim and Keith live?

@ 0.6 mile © 0.1 mile
0.5 mile ® 0.06 mile

12. Madison needs to buy enough meat to

make 1,000 hamburgers for the company

picnic, Each hamburger will weigh 0,25

pound. How many pounds of hamburger

meat should Madison buy?

@ 25pounds  © 250 pounds
25 pounds @ 2,500 pounds

Mini-Tasks

13. Rayna wrote 260,980 as (2 x 100,000) +
(6 x 10,000) + (9 x 1,000) + (8 x 100).
What error did Rayna make? Write the
correct expanded form. -

14. The highest scores at a gymnastics meet
were 9,675, 9.25, 9325, and 9.5, Write the

scores in order from least to greatest.

15. Ann and Joe's father donated $3 for every
lap they swam in a swim-a-thon. Ann swam
21 laps, and Joe swam 15 laps, Use the
Distributive Property to find the amount of

maoney their father donated.

16. A grain of sand has a diameter of 0.049

millimeter, Write 0.049 in words,

Performance Task

17. Jennifer has $12 to spend on lunch and the
roller rink. Admission to the roller rink is
$5.75. Jennifer estimates that she car buy a
large drink and a turkey sandwich and still
have enough money to get into the rink. Do

you agree? Support your answer,

Sandwiches Drinks

Tuna $3.95 Small $1.29
Turkey 54,85 Medium $1.59
Grilled Cheese $3,25 |Large $1.79
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Selected Response =~ ' S U1 @ Vanessa made 6 sandwiches for a party
' and cut them all inte fourths, How many
1. Charles boughl foot of electrical wire : }-sandwich pieces did she have?
~ and £ foot of copper wire for his science : ; N

project What Is the least common g ® 15  ©4

- - denominator of the fractions?- - - i ® 21 ' © 24
@ 14 . ©ax : 7. Dr.Watson combines 400 mL of detergent,
18 ' ® 48 . "800 mL.of alcohal, and 1,500 mL 6f water. -

How many liters of solution does he have?

2. Tom jugged 2 mile on Monday and mile . o
on Tuesday. How much farther did T Turn jog @ 2.7 liters .+ © 270liters
on Monday than on Tuesda)f? ' L @ 27liters © 27001iters *
_ ® 5 ggmile ©32 3g Mile ' 8. Give the most descgipﬁve name for the
o ®imile  ©® Ymie o0 figure, —
‘ 3. Three fences on aranch measure 22 mile, . ] L
g-rnile, andT% mile. Which is the best estimate ' 1 1
of the total length of all three fences? i S
® I%mfles : © 2%mi[es D , ' ' _I t [ )
2 miles ~ © 3miles ® square . © parallelogram
4. Lawrence bought Z pound of roast beef. - redaegIe s @ r.hombus---_ _
- He used 3 gofitto make asandwich.How - : o Find the volume of the rectangular prism.
- much roast beef did Lawrence use for his_ B e
sandwich? You may use amodel to help : '
. you solve the problem o : © 5am ; _ )
@ 2 jzbound @ pcund  ——— A R S
® lpound . ® ?pound _ sem| e
5. Sarah built a table using 6 pieces of wood - ¥
. thatwere each 33 inches wide, How wide | : ~ 13am ,
- wasthe table? .~ Vo . ® 310em®  , © 3Bem®
@ 183inches '© 21} inches i 184 cm? ® 23cm?
"@18% inche's (D] 22%inches - . Y
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10. Which ordered pair describes the location
of Point A?

Y
Yasav fu
4 ."‘-"—i—;—i—i—'x
0 24 &
® (0,2) © (4,0)
2.4) © (4,2)
11. Which ordered pair describes the focation
of Point A?
@ (0,5) © (5,5)
(5,0) © (1,5)

Mini-Tasks

12. When Bruce started bowling, he won ;
of the games he played. Within six months,
he was winning L of his games. If he
improves at the same rate, what fraction
of his games should he expect to win after
another six months?

13. Gina wants to ship 3 books that weigh
2{% pounds, 12 pounds and 1 pound. The
maximum weight she can ship is 6 pounds.
Estimate to see if Gina can ship all 3 books.
Explain your answer.
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14. How much trail mix will each person get if
5 people share J pound of trail mix?

15. Write a story to represent the division
problem 6 + 1.

16. What is the volume in cubic centimeters
of the solid?

(LIS

U

Performance Task

17. Shia measured the thickness of some
buttons, She graphed the results in a

line plat.

X X X

X X X

X X X

— L i L 1

Ll ] T L) 1

1 1 1

is ] 4

Button thicknesses (in.)

Part A: Suppose Shia makes a stack of all the
buttons. How tall will the stack be?

Part B: Suppose Shia wants the stack to be
2 inches high. How many buttons
that are % inch thick must be added
to the stack of buttons?

© Houghton Miffiin Hesourt Publishing Company

k—/!.



